WE¥I1 (28) _ BEH_ R ==
E3EFETAROL — s

[EE] ZRFMEICRATEC . BRAEITTRELS, SHOBEDILICL.

y = x2e® O n REBEKZRKD XK.
2] (1) f@)=(1+2)B22=00%bDT 7—7—BHRAL, zD2RDHEETREE.
2) (1) TRDIELRZANT, /100 DELUEE KD &.
Hint. ¥/100 = ¥/125 — 25 = (/5° (1 - ﬁ) 1 0.06, 1 0.004

53/ 15 9-25’\,
RO . hv
(1) I = /(sinm+co's2x+e3“’) dx
1 7r
) 12=/tamdx 2] < 2 O 5 5.
et — e %
3) Is:/ez—l—e—x e
(4) 14:/x"logxda: nIEEET, n# -1
dx
(5) I*":/}CT—T 2| < 1 DEIFE L F 5.
1 dx
(6) Iﬁ:/o 2 +1

L dx

M k= =

y=cosz D 0<z<7/20XM%E, c@zHhe LCHEEXETTESVIHROERE YV 2K
XK.




